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100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?
1 2 - 75.46 1.00 - 10.88 2.03
2 3 - 71.42 1.00 - 10.88 2.03
3 4 - 71.42 1.00 - 10.08 1.88
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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?
1 2 14459 1.00 100.00 1.00 - 12.94 2.42
2 3 14459 1.00 100.00 1.00 - 12.94 2.42
3 4 142.05 1.00 100.00 1.00 - 12.70 2.37
4 5 137.03 1.00 100.00 1.00 - 11.61 2.17
5 6 140.10 1.00 100.00 1.00 - 12.44 2.32
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kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? kN/m?
1 2 14358 1.00 100.00 1.00 - 11.75 2.20
2 3 14358 1.00 100.00 1.00 - 11.75 2.20
3 4 - - 100.00 1.00 - 13.16 2.46
4 5 - - 27.09 1.00 - 13.16 2.46
5 6 - - 97.93 1.00 - 9.88 1.85
6 7 - - 100.00 1.00 - 9.88 1.85
7 8 - - 100.00 1.00 - 11.02 2.06
8 9 - - 80.23 1.00 - 11.02 2.06
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